

# Exponential inequalities for the supremum of some counting processes and their square martingales

Ronan Le Guével

### ▶ To cite this version:

Ronan Le Guével. Exponential inequalities for the supremum of some counting processes and their square martingales. 2020. hal-02275583v2

## HAL Id: hal-02275583 https://hal.science/hal-02275583v2

Preprint submitted on 13 May 2020 (v2), last revised 12 Dec 2020 (v3)

**HAL** is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers. L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

### Exponential inequalities for the supremum of some counting processes and their square martingales

R. Le Guével

Univ Rennes, CNRS, IRMAR - UMR 6625, F-35000 Rennes, France ronan.leguevel@univ-rennes2.fr

#### Abstract

We establish exponential inequalities for the supremum of martingales obtained from counting processes as well as for the supremum of their square martingales. Exponential inequalities are also provided for the oscillation modulus of these martingales.

**Keywords:** Counting processes, concentration inequalities, exponential martingales, U-statistics.

#### 1 Introduction

The counting processes naturally arise in a lot of applied circumstances, and the understanding of their evolution is the object of a lot of modelization problems. Exponential inequalities are of great interest in this context, particularly because they play a decisive role in the control of errors in statistics. The exponential inequalities for the distribution of random variables have been of interest for many years (see Hoeffding [1963] for one of the first result about this issue), and it is still a very active domain of research for various types of processes, like sums of i.i.d. random variables, empirical processes, *U*-statistics, Poisson processes, martingales and self-normalised martingales, with discrete or continuous time. For example, for discrete time processes with i.i.d. random variables, exponential inequalities have been obtained for the empirical process or for *U*-statistics of order two in Hanson and Wright [1971], Giné and Zinn [1992], Arcones and Giné [1993], Talagrand [1996], Ledoux [1997], Klass and Nowicki [1997], Bretagnolle [1999], Massart [2000] or Giné et al. [2000] to cite a few. We may refer also to Massart [2007] or Bercu et al. [2015] for a wide review of exponential inequalities for discrete time martingales.

In this paper we focus on counting processes and their associated square martingales in continuous time. Our aim is to provide exponential inequalities for the oscillation modulus of a counting process as well as its associated square martingale. To this end, we exhibit first local martingale properties of the exponential of some counting processes and their square martingales, we establish exponential inequalities with explicit constants for the supremum of those processes, leading to exponential bounds for the oscillation modulus.

Some results already exists for martingales in continuous time, one may refer for instance to Theorem 23.17 of Kallenberg [1997]) for semi-martingales such that  $[M]_{\infty} \leq 1$  almost surely, or Reynaud-Bouret [2003] for the case of the Poisson process. Another framework is considered in Van De Geer [1995] or Reynaud-Bouret [2006], where exponential inequalities are obtained for more general counting processes than the Poisson process. These exponential bounds are derived from technics adapted from the empirical process, with extensions of Bernstein's exponential inequality to general martingales. As a consequence of the results of Van De Geer [1995], exponential inequalities with explicit constants have been established for the supremum of counting processes with absolutely continuous compensators in Reynaud-Bouret [2006], as well as for  $\sup_{t \in [0,T]} \sup_a M_t^a$  where  $(M_t^a)_{t\geq 0}$  is a countable family of martingales associated to counting processes.

The case of the square martingale is closely related to the one of U-statistics of order two which has a long history too, and exponential inequalities with explicit constants for such processes are also of main interest for statistical problems in a non-asymptotic framework. Indeed the estimator of a quadratic form may naturally be a U-statistics of order two, and the results obtained on square martingales are generally not the simple consequence of those obtained for simple martingales. In statistical problems like the estimation of a quadratic functional of a density (Laurent [2005]), or in testing problems (see Fromont and Laurent [2006] for a goodness-of-fit test in density or Fromont et al. [2011] for an adaptive test of homogeneity of a Poisson process), the keystone for controlling the statistical error is to use exponential inequalities for the right model, and many of them come from results on sequences of i.i.d. random variables. In the specific case of the Poisson process, a sharp exponential inequality with explicit constants hold for U-statistics of order two and for double integrals of Poisson processes in Houdré and Reynaud-Bouret [2003]. The Poisson process is viewed as a point process  $(T_i)_{i>1}$  on the real line, allowing to use the inequalities obtained for U-statistics of i.i.d. random variables like Rosenthal's inequality and Talagrand's inequality, after conditioning by the total random number of point.

In our case, we do not make any assumption about the independence of the underlying point process. We therefore shall consider more general counting processes than the Poisson process, like non-explosive Cox processes or Hawkes processes with bounded intensities for instance. Comparing to the existing literature, we use quite different proofs with stochastic calculus instead of adapting previous technics in discrete times. This leads to a more accurate tail of the distribution for large deviations, namely in  $x \log x$ , through inequalities with explicit constants. This also allows us to consider the supremum of double integrals of other counting processes than the Poisson process.

The remainder of this article is organized as follows: in the next section, we recall some general notations, while Section 3 is devoted to the exponential martingales of the counting processes. The exponential inequalities of our martingales and their associated square martingales are presented in Section 4. We provide some applications of the inequalities for U-statistics of order two in Section 5. We compute also the oscillation modulus of the martingales in this section. Finally, we have gathered all the proofs in Section 6.

#### $\mathbf{2}$ Notations

Let  $\mathcal{F} = (\mathcal{F}_t)_{t>0}$  be a complete right-continuous filtration,  $N = (N_t)_{t>0}$  be a  $\mathcal{F}$ -adapted counting process with a continuous compensator  $\Lambda = (\Lambda_t)_{t\geq 0}$ . We assume that the jumps of N are totally inaccessible and that  $N - \Lambda$  is a martingale with respect to the filtration  $\mathcal{F}$ .

We consider also  $H = (H_s)_{s \ge 0}$ , a left-continuous adapted process of bounded variations, bounded by the non-random real number  $\|H\|_{\infty,[c,d]}$  on the interval [c,d], that is  $\sup_{s\in[c,d]}|H_s| \leq \|H\|_{\infty,[c,d]}$ almost surely. If c = 0 and  $T \ge 0$ ,  $||H||_{\infty,[0,T]}$  will be written  $||H||_{\infty,T}$  for short. The non-random real number  $||H||_{2,[c,d]}$  will stand for a bound of the  $L^2$  norm of H in  $L^2(\Lambda([c,d]))$ , that is  $\int_c^d |H_u|^2 d\Lambda_u \leq ||H_u|^2 d\Lambda_u$  $||H||_{2,[c,d]}^2 < +\infty$  almost surely.

Recall that for a stochastic process X, we define  $[X]_t$  by

$$[X]_t = \langle X^c \rangle_t + \sum_{s \le t} |\Delta X_s|^2$$

where  $\langle X^c \rangle$  is the quadratic variation of the continuous part of X and  $\Delta X_s = X_s - X_{s^-}$  is the jump of X at s. We will use the fact that if X is a martingale and H is a predictable process satisfying  $\mathbb{E}[\int_0^{\infty} H_s^2 d[X]_s] < +\infty, \text{ then } (\int_0^t H_s dX_s)_{t\geq 0} \text{ is a martingale (see [Bass, 2011, p.134])}.$ Recall also that for a  $\mathcal{C}^2$  function f and a semi-martingale  $(X_t)_{t\geq 0}$ , the Itô formula ([Bass, 2011, p.134]).

Theorem 17.10]) entails

$$f(X_t) = f(X_0) + \int_0^t f'(X_{s^-}) dX_s + \frac{1}{2} \int_0^t f''(X_{s^-}) d < X^c >_s + \sum_{s \le t} [f(X_s) - f(X_{s^-}) - f'(X_{s^-}) \Delta X_s].$$

For  $f = \exp$  and a semi-martingale X satisfying  $\langle X^c \rangle \equiv 0$  and  $X_0 = 0$ , this leads to

$$e^{X_t} = 1 + \int_0^t e^{X_{s^-}} dX_s + \sum_{s \le t} e^{X_{s^-}} [e^{\Delta X_s} - 1 - \Delta X_s].$$
(1)

Finally we define for every  $n \ge 1$ 

$$S_n(X) = \inf\{t > 0, e^{X_{t-}} \ge n\}$$

with the convention  $\inf \emptyset = +\infty$ . If  $(e^{X_{t-}})_{t\geq 0}$  is a finite left-continuous process, then  $S_n(X)$  is a stopping time (see [Bass, 2010, Theorem 2.4]) satisfying  $\lim_{n \to +\infty} S_n(X) = +\infty$  almost surely.

#### 3 Martingale properties

We consider in this section the three martingales  $M = (M_t)_{t \leq T}$ ,  $\tilde{M} = (\tilde{M}_t)_{t \leq T}$  and  $\tilde{\tilde{M}} = (\tilde{\tilde{M}}_t)_{t \leq T}$  defined for  $t \leq T$  by

$$M_t = \int_0^t H_s d(N_s - \Lambda_s),$$

and the two double integrals with their compensator

$$\begin{split} \tilde{M}_t &= (\int_0^t H_s d(N_s - \Lambda_s))^2 - \int_0^t H_s^2 dN_s \\ &= M_t^2 - \int_0^t H_s^2 dN_s \\ &= \int_0^t 2M_{s^-} H_s d(N_s - \Lambda_s), \end{split}$$

and

$$\begin{split} \widetilde{\tilde{M}}_t &= (\int_0^t H_s d(N_s - \Lambda_s))^2 - \int_0^t H_s^2 d\Lambda_s \\ &= M_t^2 - \int_0^t H_s^2 d\Lambda_s \\ &= \int_0^t (2M_{s^-} H_s + H_s^2) d(N_s - \Lambda_s). \end{split}$$

Our main goal is to establish in the next section some exponential inequalities for these three martingales. We will use Chernoff bounds in order to do that, so we are first interested by the exponential martingales associated with the three processes M,  $\tilde{M}$  and  $\tilde{\tilde{M}}$ . We start first with the process M in the following lemma, proving that the exponential of M is a local-martingale. We follow the proof of Theorem VI.2 in Brémaud [1981] where the case of an absolutely continuous compensator  $\Lambda$  is treated. We may also refer to Sokol and Hansen [2012] to find in that case some conditions on the intensity and the counting process to obtain an exponential which is a martingale.

**Lemma 1.** Let Z be the process defined for a fixed real number  $\lambda$  and all  $t \leq T$  by

$$Z_t = \lambda M_t - \int_0^t (e^{\lambda H_s} - 1 - \lambda H_s) d\Lambda_s.$$

Then for every  $n \ge 1$ , the process  $(\exp(Z_{t \land S_n(Z)}))_{t \le T}$  is a martingale.

Let us define now for a > 0

$$T_a = \inf_{0 < t \le T} \{ |M_t| > a \}.$$

Since the jumps of N are totally inaccessible,  $T_a$  is a stopping time ([Bass, 2011, Proposition 16.3]). The next lemma sets out a stopped exponential martingale associated with the martingale  $\tilde{M}$ .

**Lemma 2.** Let  $\tilde{Z}$  be the process defined for a fixed real number  $\lambda$  and all  $t \leq T$  by

$$\tilde{Z}_t = \lambda \tilde{M}_t - \int_0^t (e^{2\lambda H_s M_s} - 1 - 2\lambda H_s M_s) d\Lambda_s$$

For every positive a and every  $n \ge 1$ , the process  $(\exp(\tilde{Z}_{t \wedge T_a \wedge Sn(\tilde{Z})})_{t \le T})$  is a martingale.

Finally we present the analogue of Lemma 2 for the martingale  $\tilde{M}$ .

**Lemma 3.** Let  $\tilde{\tilde{Z}}$  be the process defined for a fixed real number  $\lambda$  and all  $t \leq T$  by

$$\tilde{\tilde{Z}}_t = \lambda \tilde{\tilde{M}}_t - \int_0^t (e^{\lambda H_s(H_s + 2M_s)} - 1 - \lambda H_s(H_s + 2M_s)) d\Lambda_s.$$

For every positive a and every  $n \ge 1$ , the process  $(\exp(\widetilde{\widetilde{Z}}_{t \land T_a \land Sn(\widetilde{\widetilde{Z}})}))_{t \le T}$  is a martingale.

#### 4 Exponential inequalities

We have gathered in this section our main results, that is the exponential inequalities for the three martingales M,  $\tilde{M}$  and  $\tilde{\tilde{M}}$ . The rates that appear in these inequalities are governed by the rate function I defined for  $x \ge 0$  by

$$I(x) = (1+x)\log(1+x) - x.$$

We start with a technical lemma that provides a useful inequality for the proofs of the main theorems.

**Lemma 4.** Let  $I_t(H,\lambda)$  be defined for  $t \ge 0$  by  $\int_0^t (e^{\lambda H_s} - 1 - \lambda H_s) d\Lambda_s$ . For  $t \le T$  and every real  $\lambda$ , we get the almost sure inequality

$$|I_t(H,\lambda)| \le \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(|\lambda| \|H\|_{\infty,T})$$
(2)

where  $g(x) = e^x - 1 - x$ . Moreover the function g satisfies for every positive A, B and x

$$\inf_{\lambda>0} (Ag(Bx) - \lambda x) = -AI(\frac{x}{AB}).$$
(3)

We present now in Theorem 1 an inequality for the martingale M, with its two-sided version.

**Theorem 1.** For every positive x and T, we have the following inequalities:

$$\mathbb{P}(\sup_{0 \le t \le T} M_t \ge x) \le \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} x))$$
(4)

and

$$\mathbb{P}(\sup_{0 \le t \le T} |M_t| \ge x) \le 2 \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} x)).$$
(5)

Such exponential inequalities have already been obtained for martingales with bounded jumps in Kallenberg [1997], Van De Geer [1995] or Reynaud-Bouret [2006]. In Kallenberg [1997], the bound is of the form  $\exp(-\frac{Ax^2}{1+Bx})$  for some constants A and B, and is available for a semi-martingale M such that  $[M]_{\infty} \leq 1$  almost surely, which is not our case here. In Van De Geer [1995], the bound is of the form  $A \exp(-Bx)$  for some constants A and B and x large enough. Finally in Reynaud-Bouret [2006], the inequality is of the form  $\mathbb{P}(\sup_{t \in [0,T]} \sup_a M_t^a \geq A\sqrt{x} + Bx) \leq \exp(-x)$  for a countable family of martingales  $(M_t^a)_{t\geq 0}$ . Comparing to all these results, in the case of the large deviations, that is when x tends to infinity, we get a more acccurate tail namely in  $x \log x$  instead of x. When x tends to zero, these bounds are similar (up to constants), taking the form  $A \exp(-Bx^2)$ .

The next Theorem deals with the square martingale M. The same inequality is obtained for -M, leading to a two-sided inequality.

**Theorem 2.** For every positive x and T, we have the following inequalities:

$$\mathbb{P}(\sup_{0 \le t \le T} \tilde{M}_t \ge x) \le 3 \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} \sqrt{\frac{x}{2}}))$$
(6)

and

$$\mathbb{P}(\sup_{0 \le t \le T} -\tilde{M}_t \ge x) \le 3\exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} \sqrt{\frac{x}{2}})),\tag{7}$$

thereby we have the following two-sided exponential inequality:

$$\mathbb{P}(\sup_{0 \le t \le T} |\tilde{M}_t| \ge x) \le 6 \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} \sqrt{\frac{x}{2}})).$$
(8)

If we compare (5) and (8), we can notice that the upper bound in (8) involves  $\sqrt{x}$  instead of x in the inequality (5), leading to a sharper bound when x tends to zero, contrary to the case of the large deviations. Finally the next Theorem 3 is the analogue of Theorem 2 for the martingale  $\tilde{\tilde{M}}$ .

**Theorem 3.** For every positive x and T, we have the following inequalities:

$$\mathbb{P}(\sup_{0 \le t \le T} \tilde{\tilde{M}}_t \ge x) \le 3 \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}^2}{\|H\|_{2,T}^2} \frac{\sqrt{1 + 8x/\|H\|_{\infty,T}^2 - 1}}{4}))$$
(9)

and

$$\mathbb{P}(\sup_{0 \le t \le T} -\tilde{\tilde{M}}_t \ge x) \le 3\exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2}I(\frac{\|H\|_{\infty,T}^2}{\|H\|_{2,T}^2}\frac{\sqrt{1+8x/\|H\|_{\infty,T}^2-1}}{4})),\tag{10}$$

thereby we have the following two-sided exponential inequality:

$$\mathbb{P}(\sup_{0 \le t \le T} |\tilde{\tilde{M}}_t| \ge x) \le 6 \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}^2}{\|H\|_{2,T}^2} \frac{\sqrt{1 + 8x/\|H\|_{\infty,T}^2 - 1}}{4})).$$
(11)

Comparing now (8) and (11), we observe that M and  $\tilde{M}$  are behaving in the same way for x tending to zero, while  $\tilde{M}$  appears to be much more concentrated around its expectation. When x tends to infinity, (11) provide a similar bound (up to a constant) to (8), which is quite surprising in view of the relationship  $\tilde{\tilde{M}} = \tilde{M} + \int H^2 d(N - \Lambda)$ . Moreover using this relationship, (5) with  $H^2$  instead of H, (8) and  $\frac{x}{2}$ , lead also to an exponential inequality but less sharp than (11) because  $||H||_{2,T}^4 \leq ||H^2||_{2,T}^2$ .

#### 5 Examples of applications

#### 5.1 U-statistics of order two

The main hypothesis of the previous theorems is to suppose that the counting process N has a continuous compensator  $\Lambda$ , which is bounded in some spaces (as well as H) through the assumption  $||H||_{2,T} < +\infty$ . If the process N admits an intensity  $\lambda$ , some mild assumptions on  $\lambda$  ensure the continuity of the compensator  $\Lambda = \int \lambda(s) ds$ . This allows us to consider for instance Poisson, Cox or Hawkes processes with a bounded intensity such that  $N - \Lambda$  is a martingale. As an example, if the process  $(\frac{1}{h}\mathbb{E}[N_{t+h} - N_t|\mathcal{F}_t])_{h,t}$  is uniformly bounded for h small enough, we know that the  $\mathcal{F}$ -intensity of N is bounded and  $N - \Lambda$  is a martingale because the intensity is obtained by  $\lambda(t) = \lim_{h\to 0^+} \frac{1}{h}\mathbb{E}[N_{t+h} - N_t|\mathcal{F}_t]$  almost surely (see formula (3.5) in Chapter 2 of Brémaud [1981]).

If N is a Poisson process, some sharp exponential inequalities have already been obtained in Houdré and Reynaud-Bouret [2003] for double stochastic integrals of the form  $Z_t = \int_0^t \int_0^{y^-} h(x,y)d(N_x - \Lambda_x)d(N_y - \Lambda_y)$  where h is a bounded Borel function. The Poisson process N is viewed as a point process  $(T_i)_{i\geq 1}$ , so that  $Z_t$  is the U-statistic of order two for the Poisson process:  $Z_t = \sum_{0\leq T_i < T_j \leq t} h(T_i, T_j)$ . This allows to use the inequalities obtained for U-statistics after conditioning by the total random number of points, leading to a similar inequality to the one in Giné et al. [2000].

Such exponential inequalities for U-statistics are very useful for statistical applications. For instance the estimation of the  $L^2$  norm  $\int f^2(x)dx$  of the density of i.i.d. random variables via selection model is considered in Laurent [2005] and Fromont and Laurent [2006]. The estimator of a quadratic distance is naturally a U-statistics of order two and the exponential inequality of Houdré and Reynaud-Bouret [2003] is a main tool for the study of the property of the estimator. In the Poisson model too, as in Fromont et al. [2011] where the homogeneity of a Poisson process is tested, the method is based on an approximation of the  $L^2$ -norm of the intensity of the Poisson process seen as a point process  $(T_i)_{i\geq 1}$ on the real line.

In the particular case where h is a stochastic kernel of the form h(x, y) = H(x)H(y),  $\tilde{M}$  may be written  $\tilde{M}_t = 2Z_t$ , i.e. it is a double stochastic integrals or a U-statistics of order two. Although we are not limited to the Poisson case, by the Meyer theorem (see [Protter, 2005, page 104]), the jumps of a Poisson process are totally inaccessible so that we may apply Theorem 2. Comparing to Giné et al. [2000] or Houdré and Reynaud-Bouret [2003], where the supremum of  $(Z_t)_{t\geq 0}$  is not considered, the inequality (6) provide different bounds for the large deviations (with an additional log x in our inequality) as well as for the small deviations. Indeed in Giné et al. [2000] or Houdré and Reynaud-Bouret [2003], the bound is of the form  $L \exp(-\frac{1}{L}\min(\frac{x^{1/2}}{A^{1/2}}, \frac{x^{2/3}}{B^{2/3}}, \frac{x}{C}, \frac{x^2}{D^2}))$  for some explicit constants A, B, C, D and L.

#### 5.2 Oscillation modulus control

The main theorems of the previous section provide also an upper bound for the oscillation modulus of the three martingales. We consider then c, d and x three non-negative real numbers, and the counting process  $N_t^c = N_{t+c} - N_c$  whose compensator is  $\Lambda_{t+c} - \Lambda_c$ . The following theorem gives upper bounds for the oscillation modulus of the martingales M and  $\tilde{M}$ .

**Theorem 4.** For every non-negative x, c and d, we have the following inequality for the oscillation modulus of M:

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^2} |M_t - M_s| \ge x) \le 2\exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2}I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^2}x)).$$
(12)

For the martingale  $\tilde{M}$ , we get the following exponential upper bound

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^2} |(\int_s^t H_u d(N_u - \Lambda_u))^2 - \int_s^t H_u^2 dN_u| \ge x) \le 10 \exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2} I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^2} \sqrt{\frac{x}{8}})), \quad (13)$$

leading to the exponential inequality for the oscillation modulus of  $\tilde{M}$ :

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^{2}}|\tilde{M}_{t}-\tilde{M}_{s}|\geq x)\leq 10\exp(-\frac{\|H\|_{2,[c,d]}^{2}}{\|H\|_{\infty,[c,d]}^{2}}I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^{2}}\sqrt{\frac{x}{16}})) \\
+2\exp(-\frac{\|H\|_{2,d}^{2}}{\|H\|_{\infty,d}^{2}}I(\frac{\sqrt{\|H\|_{\infty,[c,d]}}\|H\|_{\infty,d}}{\|H\|_{2,[c,d]}}\sqrt{\frac{x}{8}})) \\
+2\exp(-\frac{\|H\|_{2,[c,d]}^{2}}{\|H\|_{\infty,[c,d]}^{2}}I(\frac{\sqrt{\|H\|_{\infty,[c,d]}}\|H\|_{\infty,d}}{\|H\|_{2,[c,d]}}\sqrt{\frac{x}{8}})).$$
(14)

In view of Theorems 1 and 2, the previous inequalities show that considering the oscillation modulus instead of the martingales M and  $\tilde{M}$  themselves does not affect the exponential bounds, except for the constants. We obtain in Theorem 4 explicit constants with respect to the integrand H as well as the interval [c, d], which may be useful for the applications.

#### 6 Proofs

**Proof of Lemma 1** The process Z is defined as  $\lambda M_t - \int_0^t (e^{\lambda H_s} - 1 - \lambda H_s) d\Lambda_s$  where  $\lambda$  is a fixed real number. Z is of bounded variations because H and M are of bounded variations, and the continuity of  $\Lambda$  entails the equality  $\Delta Z_s = \lambda H_s \Delta N_s$ . We get then from (1) that

$$e^{Z_{t}} = 1 + \int_{0}^{t} e^{Z_{s^{-}}} dZ_{s} + \sum_{s \le t} e^{Z_{s^{-}}} [e^{\lambda H_{s} \Delta N_{s}} - 1 - \lambda H_{s} \Delta N_{s}]$$
  
=  $1 + \int_{0}^{t} e^{Z_{s^{-}}} [\lambda dM_{s} - (e^{\lambda H_{s}} - 1 - \lambda H_{s}) d\Lambda_{s}] + \int_{0}^{t} e^{Z_{s^{-}}} (e^{\lambda H_{s}} - 1 - \lambda H_{s}) dN_{s}$   
=  $1 + \int_{0}^{t} e^{Z_{s^{-}}} (e^{\lambda H_{s}} - 1) d(N_{s} - \Lambda_{s}).$ 

For  $n \geq 1$ , the stopping time  $S_n(Z)$  is defined by

$$S_n(Z) = \inf\{t > 0, e^{Z_{t-}} \ge n\}.$$

Since  $e^{Z_{t-}}$  is a finite left-continuous process,  $\lim_{n\to+\infty} S_n(Z) = +\infty$  almost surely. Moreover, for every  $t \leq T$ ,

$$e^{Z_{t \wedge S_n(Z)}} = 1 + \int_0^t e^{Z_{s^-}} (e^{\lambda H_s} - 1) \mathbf{1}_{s \le S_n(Z) \wedge T} d(N_s - \Lambda_s).$$

To conclude, the result follows from the inequality

$$\mathbb{E}[\int_0^\infty e^{2Z_{s^-}} (e^{\lambda H_s} - 1)^2 \mathbf{1}_{s \le S_n(Z) \wedge T} dN_s] \le n^2 (e^{\lambda \|H\|_{\infty,T}} + 1)^2 \mathbb{E}[N_T] < +\infty \quad \blacksquare$$

**Proof of Lemma 2** We proceed as in the proof of Lemma 1. The process  $\tilde{Z}$  is defined as  $\lambda \tilde{M}_t - \int_0^t (e^{2\lambda H_s M_s} - 1 - 2\lambda H_s M_s) d\Lambda_s$  for a fixed real  $\lambda$ .  $\tilde{Z}$  is of bounded variations because H and M are of bounded variations too, and since  $\Lambda$  is continuous, we may compute  $\Delta \tilde{Z}_s = 2\lambda H_s M_{s-} \Delta N_s$ . We get from (1) that

$$\begin{split} e^{\tilde{Z}_{t}} &= 1 + \int_{0}^{t} e^{\tilde{Z}_{s^{-}}} d\tilde{Z}_{s} + \sum_{s \leq t} e^{\tilde{Z}_{s^{-}}} \left[ e^{2\lambda H_{s}M_{s^{-}}\Delta N_{s}} - 1 - 2\lambda H_{s}M_{s^{-}}\Delta N_{s} \right] \\ &= 1 + \lambda \int_{0}^{t} e^{\tilde{Z}_{s^{-}}} d\tilde{M}_{s} + \int_{0}^{t} e^{\tilde{Z}_{s^{-}}} \left( e^{2\lambda H_{s}M_{s^{-}}} - 1 - 2\lambda H_{s}M_{s^{-}} \right) d(N_{s} - \Lambda_{s}) \\ &= 1 + \int_{0}^{t} e^{\tilde{Z}_{s^{-}}} \left( e^{2\lambda H_{s}M_{s^{-}}} - 1 \right) d(N_{s} - \Lambda_{s}) \end{split}$$

and

$$e^{\tilde{Z}_{t\wedge T_a\wedge S_n(\tilde{Z})}} = 1 + \int_0^t e^{\tilde{Z}_{s^-}} (e^{2\lambda H_s M_{s^-}} - 1) \mathbf{1}_{s \le T_a \wedge S_n(\tilde{Z})} d(N_s - \Lambda_s).$$

It remains to show that  $\mathbb{E}[\int_0^{+\infty} e^{2\tilde{Z}_{s^-}} (e^{2\lambda H_s M_{s^-}} - 1)^2 \mathbf{1}_{s \leq T \wedge T_a \wedge S_n(\tilde{Z})} dN_s] < +\infty$ . For all  $s \leq T \wedge T_a \wedge S_n(\tilde{Z})$ ,

$$|2\lambda H_s M_{s^-}| \le 2|\lambda| ||H||_{\infty,T} |M_{s^-}| \le 2|\lambda| (a + ||H||_{\infty,T}) ||H||_{\infty,T},$$

$$(e^{2\lambda H_s M_{s^-}} - 1)^2 \le (e^{2|\lambda|(a + ||H||_{\infty,T})||H||_{\infty,T}} + 1)^2$$

As a consequence, we obtain with the fact that  $e^{2\tilde{Z}_{s^-}} \leq n^2$  for  $s \leq S_n(\tilde{Z})$ 

$$\mathbb{E}[\int_{0}^{+\infty} e^{2Z_{s^{-}}} (e^{2\lambda H_{s}M_{s^{-}}} - 1)^{2} \mathbf{1}_{s \leq T \wedge T_{a} \wedge S_{n}(\tilde{Z})} dN_{s}] \leq n^{2} (e^{2|\lambda|(a + ||H||_{\infty,T})||H||_{\infty,T}} + 1)^{2} \mathbb{E}[N_{T}] < +\infty \quad \blacksquare$$

**Proof of Lemma 3** We follow the steps of the proof of Lemma 2, adapting the computations to this case. The process  $\tilde{\tilde{Z}}$  is defined as  $\lambda \tilde{\tilde{M}}_t - \int_0^t (e^{\lambda H_s(H_s + 2M_s)} - 1 - \lambda H_s(H_s + 2M_s)) d\Lambda_s$  for a fixed real  $\lambda$ . The process  $\tilde{\tilde{Z}}$  is again of bounded variations because H and M are of bounded variations, and the continuity of  $\Lambda$  entails the equality  $\Delta \tilde{\tilde{Z}}_s = \lambda H_s(H_s + 2M_{s^-}) \Delta N_s$ . Then (1) yields

$$e^{\widetilde{\tilde{Z}}_{t}} = 1 + \int_{0}^{t} e^{\widetilde{\tilde{Z}}_{s^{-}}} d\widetilde{\tilde{Z}}_{s} + \sum_{s \leq t} e^{\widetilde{\tilde{Z}}_{s^{-}}} [e^{\lambda H_{s}(H_{s}+2M_{s^{-}})\Delta N_{s}} - 1 - \lambda H_{s}(H_{s}+2M_{s^{-}})\Delta N_{s}]$$
  
$$= 1 + \lambda \int_{0}^{t} e^{\widetilde{\tilde{Z}}_{s^{-}}} d\widetilde{\tilde{M}}_{s} + \int_{0}^{t} e^{\widetilde{\tilde{Z}}_{s^{-}}} (e^{\lambda H_{s}(H_{s}+2M_{s^{-}})} - 1 - \lambda H_{s}(H_{s}+2M_{s^{-}}))d(N_{s}-\Lambda_{s})$$
  
$$= 1 + \int_{0}^{t} e^{\widetilde{\tilde{Z}}_{s^{-}}} (e^{\lambda H_{s}(H_{s}+2M_{s^{-}})} - 1)d(N_{s}-\Lambda_{s})$$

 $\operatorname{and}$ 

$$\exp(\tilde{\widetilde{Z}}_{t\wedge T_a\wedge S_n(\widetilde{Z})}) = 1 + \int_0^t e^{\tilde{\widetilde{Z}}_{s^-}} (e^{\lambda H_s(H_s + 2M_{s^-})} - 1) \mathbf{1}_{s \le T_a \wedge S_n(\widetilde{Z})} d(N_s - \Lambda_s).$$

The proof is complete showing that  $\mathbb{E}[\int_{0}^{+\infty} e^{2\widetilde{\widetilde{Z}}_{s^{-}}} (e^{\lambda H_{s}(H_{s}+2M_{s^{-}})} - 1)^{2} \mathbf{1}_{s \leq T \wedge T_{a} \wedge S_{n}(\widetilde{\widetilde{Z}})} dN_{s}] < +\infty$ . For all  $s \leq T \wedge T_{a} \wedge S_{n}(\widetilde{\widetilde{Z}})$ ,

$$|H_s(H_s + 2M_{s^-})| \le ||H||_{\infty,T}^2 + 2||H||_{\infty,T} |M_{s^-}| \le ||H||_{\infty,T}^2 + 2(a + ||H||_{\infty,T})||H||_{\infty,T},$$

$$(e^{\lambda H_s(H_s+2M_{s^-})}-1)^2 \le (e^{|\lambda|(||H||_{\infty,T}^2+2(a+||H||_{\infty,T})||H||_{\infty,T})}+1)^2$$

Combining with the inequality  $e^{2\widetilde{Z}_{s^-}} \leq n^2$ , this entails

$$\mathbb{E}\left[\int_{0}^{+\infty} e^{2\widetilde{Z}_{s^{-}}} \left(e^{\lambda H_{s}(H_{s}+2M_{s^{-}})}-1\right)^{2} \mathbf{1}_{s \leq T \wedge T_{a} \wedge S_{n}(\widetilde{Z})} dN_{s}\right] \leq n^{2} \left(e^{|\lambda| \left(\|H\|_{\infty,T}^{2}+2(a+\|H\|_{\infty,T})\|H\|_{\infty,T}\right)}+1\right)^{2} \mathbb{E}[N_{T}] < +\infty \blacksquare$$

**Proof of Lemma 4** Let  $s \leq t \leq T$  and  $\lambda \in \mathbb{R}$ . We use the following inequality:

$$\begin{split} \left| e^{\lambda H_s} - 1 - \lambda H_s \right| &= \left| \sum_{j \ge 2} \frac{(\lambda H_s)^j}{j!} \right| \\ &= \left| \frac{(\lambda H_s)^2}{2!} + H_s^2 \sum_{j \ge 3} \frac{\lambda^j H_s^{j-2}}{j!} \right| \\ &\le \frac{(|\lambda| H_s)^2}{2!} + H_s^2 \sum_{j \ge 3} \frac{|\lambda|^j ||H||_{\infty,T}^{j-2}}{j!} \\ &= H_s^2 (\frac{\lambda^2}{2} + \frac{1}{||H||_{\infty,T}^2} \sum_{j \ge 3} \frac{|\lambda|^j ||H||_{\infty,T}^j}{j!}), \end{split}$$

that is

$$\left| e^{\lambda H_s} - 1 - \lambda H_s \right| \le \frac{H_s^2}{\|H\|_{\infty,T}^2} \sum_{j\ge 2} \frac{|\lambda|^j \|H\|_{\infty,T}^j}{j!}.$$
(15)

Integrating with respect to  $d\Lambda_s$  we obtain

$$|I_t(H,\lambda)| \le \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(|\lambda| \|H\|_{\infty,T})$$

where  $g(x) = e^x - 1 - x$ . For the proof of (3), consider the function h defined for  $\lambda > 0$  by  $h(\lambda) = Ag(B\lambda) - \lambda x$ . Since  $h'(\lambda) = AB(e^{B\lambda} - 1) - x$ , we get that the minimum of h is reached for  $\lambda = \frac{1}{B}\log(1 + \frac{x}{AB}) =: \lambda_0$  and  $h(\lambda_0) = -AI(\frac{x}{AB})$ 

**Proof of Theorem 1** Recall that  $I_t(H,\lambda)$  is defined by  $\int_0^t (e^{\lambda H_s} - 1 - \lambda H_s) d\Lambda_s$ . We define the process Z as in Lemma 1 by  $Z_t = \lambda M_t - I_t(H,\lambda)$  and for  $n \ge 1$ , the stopping time  $S_n(Z)$  is defined by  $S_n(Z) = \inf\{t > 0, e^{Z_{t-}} \ge n\}$ . Since  $(S_n(Z))_{n\ge 1}$  is a non-decreasing sequence of stopping times with  $\lim_{n\to+\infty} S_n(Z) = +\infty$  almost surely, we get by monotony

$$\mathbb{P}(\sup_{0 \le t \le T} M_t \ge x) = \lim_{n \to +\infty} \mathbb{P}(\sup_{0 \le t \le T \land S_n(Z)} M_t \ge x) = \sup_{n \ge 1} \mathbb{P}(\sup_{0 \le t \le T} M_{t \land S_n(Z)} \ge x).$$

Using Lemma 4 (2), we obtain for all  $\lambda > 0$ , x > 0 and  $n \ge 1$ ,

$$\mathbb{P}(\sup_{0 \le t \le T} M_{t \land S_n(Z)} \ge x) = \mathbb{P}(\sup_{0 \le t \le T} e^{\lambda M_{t \land S_n(Z)} - I_{t \land S_n(Z)}(H,\lambda) + I_{t \land S_n(Z)}(H,\lambda)} \ge e^{\lambda x})$$
$$\le \mathbb{P}(e^{\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2}} \sup_{0 \le t \le T} e^{Z_{t \land S_n(Z)}} \ge e^{\lambda x}).$$

Doob's maximal inequality and Lemma 1 then lead to

$$\mathbb{P}(\sup_{0 \le t \le T} M_{t \land S_n(Z)} \ge x) \le \exp(\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda \|H\|_{\infty,T}) - \lambda x)$$

for every  $\lambda > 0$  with  $g(x) = e^x - 1 - x$ , so taking the limit in n and the infimum in  $\lambda$ , we get by (3)

$$\mathbb{P}(\sup_{0 \le t \le T} M_t \ge x) \le \inf_{\lambda > 0} \exp(\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda \|H\|_{\infty,T}) - \lambda x)$$
$$= \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} x))$$

that is (4). Applying this inequality with -H instead of H, we obtain also

$$\mathbb{P}(\sup_{0 \le t \le T} -M_t \ge x) \le \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2} x)).$$

Then (5) follows from the inequality

$$\mathbb{P}(\sup_{0 \le t \le T} |M_t| \ge x) \le \mathbb{P}(\sup_{0 \le t \le T} M_t \ge x) + \mathbb{P}(\sup_{0 \le t \le T} -M_t \ge x) \quad \bullet$$

**Proof of Theorem 2** Let us begin with the proof of (6). We define  $\tilde{Z}$  as in Lemma 2 by  $\tilde{Z}_t = \lambda \tilde{M}_t - I_t(2HM, \lambda)$ , thereby  $(S_n(\tilde{Z}))_{n\geq 1}$  is a sequence of non-decreasing stopping times such that  $\lim_{n\to+\infty} S_n(\tilde{Z}) = +\infty$  almost surely. We proceed then as in the proof of Theorem 1. For all positive  $\lambda$ , a and x

$$\mathbb{P}(\sup_{0 \le t \le T} \tilde{M}_t \ge x) = \sup_{n \ge 1} \mathbb{P}(\sup_{0 \le t \le T} \tilde{M}_{t \land S_n(\tilde{Z})} \ge x) \tag{16}$$

$$\leq \mathbb{P}(T_a < T) + \sup_{n \ge 1} \mathbb{P}(\sup_{0 \le t \le T} \tilde{M}_{t \land T_a \land S_n(\tilde{Z})} \ge x \cap T_a \ge T)$$

$$\leq \mathbb{P}(\sup_{0 \le t \le T} |M_t| \ge a) + \sup_{n \ge 1} \mathbb{P}(\sup_{0 \le t \le T} e^{\lambda \tilde{M}_{t \land T_a \land S_n(\tilde{Z})}} \ge e^{\lambda x}). \tag{17}$$

Using the inequality (15), we get for  $t \leq T$  and  $\lambda > 0$ 

$$I_{t \wedge T_a \wedge S_n(\tilde{Z})}(2HM, \lambda) = \int_0^{t \wedge T_a \wedge S_n(Z)} (e^{2\lambda H_s M_s} - 1 - 2\lambda H_s M_s) d\Lambda_s \le \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(2\lambda a \|H\|_{\infty,T}).$$

Since  $T_a$  is a bounded stopping time, Lemma 2 and Doob's maximal inequality yield for every  $\lambda > 0$  and  $n \ge 1$ 

$$\mathbb{P}(\sup_{0 \le t \le T} e^{\lambda \tilde{M}_{t \land T_a \land S_n(\tilde{Z})}} \ge e^{\lambda x}) \le \mathbb{P}(\sup_{0 \le t \le T} e^{\tilde{Z}_{t \land T_a \land S_n(\tilde{Z})}} \ge e^{\lambda x - \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2}g(2\lambda a\|H\|_{\infty,T})})$$
$$\le \exp(\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2}g(2\lambda a\|H\|_{\infty,T}) - \lambda x)$$

whereby

$$\begin{split} \sup_{n\geq 1} \mathbb{P}(\sup_{0\leq t\leq T} e^{\lambda \tilde{M}_{t\wedge T_{a}\wedge S_{n}(\tilde{Z})}} \geq e^{\lambda x}) \leq \inf_{\lambda>0} \exp(\frac{\|H\|_{2,T}^{2}}{\|H\|_{\infty,T}^{2}} g(2\lambda a\|H\|_{\infty,T}) - \lambda x) \\ &= \exp(-\frac{\|H\|_{2,T}^{2}}{\|H\|_{\infty,T}^{2}} I(\frac{\|H\|_{\infty,T}}{2a\|H\|_{2,T}^{2}} x)) \end{split}$$

thanks to (3). Coming back to the inequality (17), Theorem 1 then entail for every a > 0,

$$\mathbb{P}(\sup_{0 \le t \le T} \tilde{M}_t \ge x) \le 2e^{-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2}I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2}a)} + e^{-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2}I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2}x)}$$

We choose  $a = \sqrt{\frac{x}{2}}$  in order to obtain (6). For the proof of (7), we consider  $\tilde{Z}_t = -\lambda \tilde{M}_t - I_t(2HM, -\lambda)$  for  $\lambda > 0$ . We get similarly, thanks to Lemma 4 and Lemma 2

$$\mathbb{P}(\sup_{0 \le t \le T} e^{-\lambda \tilde{M}_{t \land T_a \land S_n(\tilde{Z})}} \ge e^{\lambda x}) \le \mathbb{P}(\sup_{0 \le t \le T} e^{\tilde{Z}_{t \land T_a \land S_n(\tilde{Z})}} \ge e^{\lambda x - \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(2\lambda a \|H\|_{\infty})}) \le e^{\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(2\lambda a \|H\|_{\infty,T}) - \lambda x}$$

and the end of the proof is similar to the one of (6). To conclude, (8) follows from the inequality

$$\mathbb{P}(\sup_{0 \le t \le T} |\tilde{M}_t| \ge x) \le \mathbb{P}(\sup_{0 \le t \le T} \tilde{M}_t \ge x) + \mathbb{P}(\sup_{0 \le t \le T} -\tilde{M}_t \ge x) \quad \bullet$$

**Proof of Theorem 3** This proof is similar to the one of Theorem 2. Let us begin showing the inequality (9). We introduce  $\tilde{\tilde{Z}}$  as in Lemma 3 with  $\tilde{\tilde{Z}}_t = \lambda \tilde{\tilde{M}}_t - I_t(H(H+2M), \lambda)$  and its associated sequence of stopping times  $S_n(\tilde{\tilde{Z}})$  to obtain for all positive  $a, \lambda$  and x

$$\mathbb{P}(\sup_{0 \le t \le T} \widetilde{\tilde{M}}_t \ge x) \le \mathbb{P}(\sup_{0 \le t \le T} |M_t| \ge a) + \sup_{n \ge 1} \mathbb{P}(\sup_{0 \le t \le T} \exp(\lambda \widetilde{\tilde{M}}_{t \land T_a \land S_n(\widetilde{Z})}) \ge e^{\lambda x}).$$
(18)

Using the inequality (15), we get for  $t \leq T$  and  $\lambda > 0$ 

$$\int_{0}^{t \wedge T_{a} \wedge S_{n}(\widetilde{\widetilde{Z}})} (e^{\lambda H_{s}(H_{s}+2M_{s})} - 1 - \lambda H_{s}(H_{s}+2M_{s})) d\Lambda_{s} \leq \frac{\|H\|_{2,T}^{2}}{\|H\|_{\infty,T}^{2}} g(\lambda \|H\|_{\infty,T}(\|H\|_{\infty,T}+2a)).$$

Then Lemma 3 and Doob's maximal inequality yield for every  $\lambda > 0$  and  $n \ge 1$ 

$$\mathbb{P}(\sup_{0 \le t \le T} \exp(\lambda \widetilde{\tilde{M}}_{t \land T_a \land S_n(\widetilde{\tilde{Z}})}) \ge e^{\lambda x}) \le \mathbb{P}(\sup_{0 \le t \le T} \exp(\widetilde{\tilde{Z}}_{t \land T_a \land S_n(\widetilde{\tilde{Z}})}) \ge e^{\lambda x - \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda \|H\|_{\infty,T}(\|H\|_{\infty,T} + 2a))}) \le \exp(\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda \|H\|_{\infty,T}(\|H\|_{\infty,T} + 2a)) - \lambda x).$$

As a consequence

$$\begin{split} \sup_{n\geq 1} \mathbb{P}(\sup_{0\leq t\leq T} \exp(\tilde{\tilde{M}}_{t\wedge T_a\wedge S_n(\tilde{\tilde{Z}})}) \geq e^{\lambda x}) \leq \inf_{\lambda>0} \exp(\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda\|H\|_{\infty,T}(\|H\|_{\infty,T}+2a)) - \lambda x) \\ &= \exp(-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{\infty,T}^2} x)). \end{split}$$

thanks to (3). The inequality (18) and Theorem 1 then entail for every a > 0,

$$\mathbb{P}(\sup_{0 \le t \le T} \tilde{\tilde{M}}_t \ge x) \le 2e^{-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2}^2}a)} + e^{-\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} I(\frac{\|H\|_{\infty,T}}{\|H\|_{2,T}^2(2a+\|H\|_{\infty,T})}x)}.$$

We choose  $a = \frac{x}{2a + \|H\|_{\infty,T}}$  i.e.  $a = \frac{-\|H\|_{\infty,T} + \sqrt{\|H\|_{\infty,T}^2 + 8x}}{4}$  in order to get (9). For the proof of (10), let  $\tilde{\tilde{Z}}$  be defined by  $\tilde{\tilde{Z}}_t = -\lambda \tilde{\tilde{M}}_t - I_t(H(H+2M), -\lambda)$  for  $\lambda > 0$ . We obtain similarly with Lemma 4 and Lemma 3

$$\mathbb{P}(\sup_{0 \le t \le T} \exp(-\lambda \widetilde{\tilde{M}}_{t \land T_a \land S_n(\widetilde{\tilde{Z}})}) \ge e^{\lambda x}) \le \mathbb{P}(\sup_{0 \le t \le T} \exp(\widetilde{\tilde{Z}}_{t \land T_a \land S_n(\widetilde{\tilde{Z}})}) \ge e^{\lambda x - \frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda \|H\|_{\infty,T}(\|H\|_{\infty,T} + 2a))})$$
$$\le \exp(\frac{\|H\|_{2,T}^2}{\|H\|_{\infty,T}^2} g(\lambda \|H\|_{\infty,T}(\|H\|_{\infty,T} + 2a)) - \lambda x)$$

and the end of the proof is similar to the one of (9). To conclude, (11) also comes from the inequality

$$\mathbb{P}(\sup_{0 \leq t \leq T} |\tilde{\tilde{M}}_t| \geq x) \leq \mathbb{P}(\sup_{0 \leq t \leq T} \tilde{\tilde{M}}_t \geq x) + \mathbb{P}(\sup_{0 \leq t \leq T} -\tilde{\tilde{M}}_t \geq x) \quad \bullet$$

**Proof of Theorem 4** Let us prove (12) first. We use the relationship  $M_t - M_s = \int_c^t H_u(dN_u - \Lambda_u) - \int_c^s H_u(dN_u - \Lambda_u)$  to get

$$\sup_{(s,t)\in[c,d]} |M_t - M_s| \le 2 \sup_{t\in[c,d]} |\int_c^t H_u(dN_u - \Lambda_u)|$$
$$= 2 \sup_{t\in[0,d-c]} \left| \int_0^t H_{u+c}(dN_u^c - d\Lambda_u^c) \right|$$

Since N<sup>c</sup> satisfies the same assumptions than N, we may apply (5) with N<sup>c</sup>,  $\Lambda^c$  and the process  $u \mapsto H_{u+c}$  in order to obtain

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^2}|M_t - M_s| \ge x) \le 2\exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2}I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^2}\frac{x}{2})),$$

that is (12). Let us prove (13) now. We shall consider the following relationship

$$(\int_{s}^{t} H_{u}d(N_{u} - \Lambda_{u}))^{2} - \int_{s}^{t} H_{u}^{2}dN_{u} = \tilde{M}_{t}^{c} - \tilde{M}_{s}^{c} - 2(M_{t} - M_{s})\int_{c}^{s} H_{u}(N_{u} - \Lambda_{u})$$
  
where  $\tilde{M}_{t}^{c} = (\int_{c}^{t} H_{u}d(N_{u} - \Lambda_{u}))^{2} - \int_{c}^{t} H_{u}^{2}d\Lambda_{u} = (\int_{0}^{t-c} H_{u+c}d(N_{u}^{c} - \Lambda_{u}^{c}))^{2} - \int_{0}^{t-c} H_{u+c}^{2}d\Lambda_{u}^{c}$ . This yields for  $a > 0$ 

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^2} |(\int_s^t H_u d(N_u - \Lambda_u))^2 - \int_s^t H_u^2 dN_u| \ge x) \\
\le \mathbb{P}(2\sup_{t\in[c,d]} |\tilde{M}_t^c| \ge \frac{x}{2}) + \mathbb{P}(\sup_{s\in[c,d]} |\int_c^s H_u(N_u - \Lambda_u)| \ge a) + \mathbb{P}(\sup_{(s,t)\in[c,d]^2} |M_t - M_s| \ge \frac{x}{4a}).$$

We get then from (8), (5) and (12)

$$\mathbb{P}(2\sup_{t\in[c,d]}|\tilde{M}_{t}^{c}|\geq\frac{x}{2})\leq6\exp(-\frac{\|H\|_{2,[c,d]}^{2}}{\|H\|_{\infty,[c,d]}^{2}}I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^{2}}\sqrt{\frac{x}{8}})),$$
$$\mathbb{P}(\sup_{s\in[c,d]}|\int_{c}^{s}H_{u}(N_{u}-\Lambda_{u})|\geq a)\leq2\exp(-\frac{\|H\|_{2,[c,d]}^{2}}{\|H\|_{\infty,[c,d]}^{2}}I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^{2}}a))$$

 $\operatorname{and}$ 

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^2}|M_t - M_s| \ge \frac{x}{4a}) \le 2\exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2}I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^2}\frac{x}{8a})).$$

If we choose  $a = \sqrt{\frac{x}{8}}$ , we obtain

$$\mathbb{P}(\sup_{(s,t)\in[c,d]^2} |(\int_s^t H_u d(N_u - \Lambda_u))^2 - \int_s^t H_u^2 dN_u| \ge x) \le 10 \exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2} I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^2} \sqrt{\frac{x}{8}})), \quad (19)$$

that is (13). To conclude with the oscillation modulus of  $\tilde{M}$ , we may use similarly

$$\tilde{M}_t - \tilde{M}_s = (\int_s^t H_u d(N_u - \Lambda_u))^2 - \int_s^t H_u^2 dN_u + 2(M_t - M_s)M_s$$

and

$$\mathbb{P}(\sup_{(s,t)\in[c,d]} |\tilde{M}_t - \tilde{M}_s| \ge x) \le \mathbb{P}(\sup_{(s,t)\in[c,d]^2} |(\int_s^t H_u d(N_u - \Lambda_u))^2 - \int_s^t H_u^2 dN_u| \ge \frac{x}{2}) + \mathbb{P}(\sup_{s\in[0,d]} |M_s| \ge a) + \mathbb{P}(\sup_{(s,t)\in[c,d]^2} |M_t - M_s| \ge \frac{x}{4a}).$$

Using (13)), (5), (12) and choosing  $a = \sqrt{\frac{x}{8} \frac{\|H\|_{\infty,[c,d]}}{\|H\|_{\infty,d}} \frac{\|H\|_{2,d}}{\|H\|_{2,[c,d]}}}$  we get

$$\begin{split} \mathbb{P}(\sup_{(s,t)\in[c,d]} |\tilde{M}_t - \tilde{M}_s| \ge x) \le 10 \exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2} I(\frac{\|H\|_{\infty,[c,d]}}{\|H\|_{2,[c,d]}^2} \sqrt{\frac{x}{16}})) \\ &+ 2 \exp(-\frac{\|H\|_{2,d}^2}{\|H\|_{\infty,d}^2} I(\frac{\sqrt{\|H\|_{\infty,[c,d]}}\|H\|_{\infty,d}}{\|H\|_{2,d}\|H\|_{2,[c,d]}} \sqrt{\frac{x}{8}})) \\ &+ 2 \exp(-\frac{\|H\|_{2,[c,d]}^2}{\|H\|_{\infty,[c,d]}^2} I(\frac{\sqrt{\|H\|_{\infty,[c,d]}}\|H\|_{\infty,d}}{\|H\|_{2,d}\|H\|_{2,[c,d]}} \sqrt{\frac{x}{8}})) \end{split}$$

#### References

- M. Arcones and E. Giné. Limit theorems for U-processes. Ann. Probab., 21:1494–1542, 1993.
- R. F. Bass. The measurability of hitting times. *Electron. Commun. Probab.*, 15:99-105, 2010. doi: 10.1214/ECP.v15-1535. URL https://doi.org/10.1214/ECP.v15-1535.
- R. F. Bass. Stochastic processes, volume 33. Cambridge University Press, 2011.
- B. Bercu, B. Delyon, and E. Rio. Concentration Inequalities for Sums and Martingales. Springer, 2015.
- P. Brémaud. Point processes and queues: martingale dynamics. Springer, 1981.

- J. Bretagnolle. A new large deviation inequality for U-statistics of order 2. ESAIM: PS, 3:151-162, December 1999.
- M. Fromont and B. Laurent. Adaptive goodness-of-fit tests in a density model. *The annals of statistics*, 34(2):680-720, 2006.
- M. Fromont, B. Laurent, and P. Reynaud-Bouret. Adaptive test of homogeneity for a poisson process. Annales de l'Institut Henri Poincaré, Probabilités et Statistiques, 47(1):176-213, 2011.
- E. Giné and J. Zinn. On Hoffmann-Jorgensen's inequality for U-processes. In Probability in Banach Spaces, Proceedings of the Eighth International Conference, volume 30 of Progess in Probability. Birkhäuser, 1992.
- E. Giné, R. Latała, and J. Zinn. Exponential and moment inequalities for U-statistics. In *High Dimensional Probability II*, volume 47 of *Progess in Probability*. Birkhäuser, 2000.
- D. L. Hanson and F.T. Wright. A bound on tail probabilities for quadratic forms in independent random variables. *Annals Math. Stat.*, 42(3):1079–1083, 1971.
- W. Hoeffding. Probability inequalities for sums of bounded random variables. Journal of the American Statistical Association, 58(301):13-30, 1963.
- C. Houdré and P. Reynaud-Bouret. Exponential inequalities for U-statistics of order two with constants. In *Stochastic Inequalities and Applications*, volume 56 of *Progess in Probability*, pages 55–69. Birkhäuser, 2003.
- O. Kallenberg. *Foundations of Modern Probability*. Springer Series in Statistics. Probability and Its Applications. Springer, 1st edition, 1997.
- M. Klass and K. Nowicki. Order of magnitude bounds for expectations of  $\delta_2$  functions of nonnegative random bilinear forms and generalized U-statistics. Ann. Probab., 25:1471–1501, 1997.
- B. Laurent. Adaptive estimation of a quadratic functional of a density by model selection. *Esaim* : *PS*, 9:1–18, 2005.
- M. Ledoux. On Talagrand's deviation inequalities for product measures. ESAIM: Probability and Statistics, 1:63-87, 1997.
- P. Massart. About the constants in Talagrand's concentration inequalities for empirical processes. Ann. Probab., 28:863-884, 2000.
- P. Massart. Concentration Inequalities and Model Selection: Ecole d'Eté de Probabilités de Saint-Flour XXXIII - 2003. Springer, 2007.
- P. E. Protter. Stochastic differential equations. In *Stochastic integration and differential equations*, pages 243–355. Springer, 2005.
- P. Reynaud-Bouret. Adaptive estimation of the intensity of inhomogeneous poisson processes via concentration inequalities. *Probab. Theory Relat. Fields*, 126:103–153, 2003. doi: https://doi.org/ 10.1007/s00440-003-0259-1.
- P. Reynaud-Bouret. Compensator and exponential inequalities for some suprema of counting processes. Statistics and Probability Letters, 76:1514–1521, 2006.
- Alexander Sokol and Niels Hansen. Exponential martingales and changes of measure for counting processes. *Stochastic Analysis and Applications*, 33, 05 2012. doi: 10.1080/07362994.2015.1040890.

- M. Talagrand. New concentration inequalities in product spaces. Inventiones mathematicae, 126: 505-563, 1996.
- S. Van De Geer. Exponential inequalities for martingales, with application to maximum likelihood estimation for counting processes. *The Annals of Statistics*, 23(5):1779–1801, 1995.